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— N2 27 R 2N 2 R
Just as water is permitted so too is 27 permitted

Overview

The X3 derives the 7X17 N7 of 07 (according to 172X ") from the p10o of
'D°12 1109WN PRI 7Y 199K8N X', where the 770 compares 07 to 0. Just as o°n
1S X172 NN, so too is X172 I 7. Our MdOIN seeks to clarify and justify
this 71°% for o°w7p 07 (as well as P20 a7).

nvoIn asks:
— oy YN XY D95 79V PPRY DIVTP 077 2) DY 9N

Even though that the blood of 2°w7p, which is not spilled like water, is
not likened to water. How do we derive that 2°w7p o7 is also X372 Mn?

N1B0IN answers:
— AININA YIYT PIIN DT XD YRYUNT M 0PN Yan

Nevertheless since the o2 of 2°n> 10own indicates that 39w a7 is ="

SRR -
— DOVTP 01D 1PTH NI NNIN KDY NIIN 13991 NYTYT JIND NIY

And therefore the phrase ¥a8n X% which is written concerning 1271 07

means (only) eating and not 718277; the same would apply to 2>@w7p 27. That
D*wTp 07 is only 7°OKX2 MoK and not 7RI,

mMooIN anticipates a question:
- "'D’\D‘pr 1M PN 019 1N 25189 9997 NIINT 23 Y N

And even though there are two separate prohibitions concerning 07; one

for 11 27 and the other for 2"2T» 27; it would therefore seem logical to
assume that the an°n of X172 1717 07 (which is derived from 2°%> 1129wWn; a verse that

! When the 7790 writes, concerning 07, that 013 1199Wn YR %Y 12980 X9, equating o7 with o°», this is only
concerning P71 07 (for which we observe the dictum of '3 129wn), but it does not refer to ow7p 07
(which are 911 on the 1212, and are not 0°13 79W1. See X713 on 2,2D).

% If there would only be one WY for o7 which would include both 1211 and o°w7p, then once we know that
this Y20K8n &2 means only 729K M10°X (from 23 1135wn) it would apply to all 7 including o*w7p. [See mMooIN
7nma 7"7 2,30.] However since there is a separate 105 for o°w7p o7, then perhaps only the 12380 X% of 7
791 is limited to 77°3X, but not the 1580 X7 of 2°w7p 07 (which may include 7837 190K as well [according to
AR M)).

? X1 states in X,7 MmN that 013 (and a XY) is mentioned three times (1. [X] X7P™ ;70791 12980 XY 07 991
1-13,7,; 2. 2°-> P [nR] 1 XIP7, 07 798N KD N3 n79m; and 3. 70,10 ow, 0090 ,199KN KD "N a7), one is for PN a7
and one for 2°w7p 07 and one for M0377 27 (you are 21 if you ate the blood after is was uncovered).
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cannot apply to 2wTp 07), is not applicable to the > of o°w7p 07. The question remains
from where do we derive that 2°w7p 07 is IRI72 "Mn?
mooin replies:

S:Nm‘l 999N NOIN 9N BT MINY 119197 NN Knbya NnY) 299) 01PN Yon

Nevertheless we can derive o>w7p 07 from 77711 07, for it is merely a simple
edification that all the prohibitions concerning 27 (whether 1217 or 2w7p)
is specifically limited to a prohibition for eating only (not for 7x17).

Summary
The 7% from 0°n2 1105wn (even though it is concerning P21 07) is merely a

Xn?> 177 that all 7 *M0°X (including o°w7p 07) are limited to 79°2X and not
NI

Thinking it over

When n19oIn writes that 'R Xn5va Xn7 9% n'"n', does it mean that the
entire T°7 of 121 DN D1 1N is a RNYM M9, or that the application to 07
D°wTp is a XN M2°) (however the initial 71°% of 072 7RI7 N7 is a ‘regular’
712 [not (merely) a Xn2°n »19°3])?

* See “Thinking it over’.

> Once we know that one 12380 X2 (by 1"211) means only 795X MoK then we assume that the others
(including 0°w7p) also mean 7172°9% MoK only (especially since the various 2°10°R of o7 are not specifically
referring to specific cases). It is illogical to assume that the 770 uses the same expression "738n ®?' for the
same 07 MoK and by one it should mean only 72°38 Mo°X and by the other it should include 7R37 MO°K.
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